o
)

o
N

<d @> (rad)
o
=
a1

o
T

- - - - - L

1

2 3
TPlpoT (PCA t%obeamlinélf)

—— _ ] —_Global_mKFET

—e— DQM_V0001_R000000001__Global__mkFitN |
—— DQM_V0001_R000000001__Global__mkFitNewDett33__RECO
—— DOM_V0001_R000000001__Global

< dcotl>)
o
=
a1

.............

.............

o
T

0.95

107

1

rigmal__
ewDett

RECO

RECO

mkFitNewDetNoF _ RECO

100r

o ™
o O
[

< 00, > (M)
D
o
I T

20F- -

CCLT TR,

.......

.............................

.............................

RatioI

1

<0 / > (Y
PP, > (Y0)
O = N W N O

o

PR 1 R HE
. . -
R Y R 1 R
........ - -
ul Jl
Ph----- A e

1

—~

RatioI

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

100

s

0.95

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


